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YcejaoBud

Bapwuanr 1.

1.Vt — 422 — 4z —9=+24—25

2. Vet =52 — 20+ 1=—22+4

3.V +7—V3x+1=+bx -3

4. V2722 + 54z + 31 + V4522 + 90z + 54 = —922 — 18z — 4
r—3
5. (x —=3)(x—1)— (Tx = 7) p— =-10

=)

V224215 =35+ /] +10] = 15 = —22 + 32 + 10

7. V22 — 182 + 80 + Va2 — 192 + 88 = /22 — 16z + 64

8.z (Va2 +8x+ 724 z)=11—x

Q. r+4+Vr+4yr+5-2V/2+5=0

10. Vo + Vo —24 oz —1-2y/z—2=2

BapmuanTt 2.

1.Vt — 22 —5x+4=vVzt—1

2.Vt — 2+ 5 —3=—22+1

3. Vizr+8—bx —9 =4z +4

i

V2722 + 162z + 247 + /4522 4 2702 + 414 = —92% — 54 — 76

5. (:U+2)(x—7)—(1233—84)1/ii—3:—27

V22422 -804 /|lx — 1] - T=—2? + Tz +8

=)

7. Va2 — 11z + 28 + Va2 — 122 + 35 = Vo2 — 142 + 49
S.x(\/m—i—\/a?):?—x

9.2 -9+8/z —9Vr —1-20y/z —1=0

10. Vo + vz — 16+ V2 — 12— 4z — 16 = 8




Bapwuant 3.

1.Vt — 222 —2x — 14 =22 — 25

2.Vt + 202+ 40 —6=—22+1

3. Viz +8 -2z —2=z+6

4. /322 — 182 + 31 + /522 — 30x + 54 = —2% + 62 — 4
r—2 B
x+4
ANV22+4r - 32+ ]z =3 - 1=—2?+ 52 —4

—12

5. (z —2)(x +4) — (8x + 32)

=2

7.V22 —8r+15+vVa2 — Tz +12= V22 —62+9
8. vz (Va2 +10s+25+xz) =8 —x
9.2 —44+4V/x—4Yxr—-3-5Vx—-3=0

10. \/x—|—\/x—5—|—\/x—4—2\/x—5:8

Bapuaur 4.

1.Vt =322 -5z —11=vVz*— 36

2. Vet — 42+ dr+5=—-22+1

3.V2x+4—Viz—-5=+z+3

4. /1222 — 48x + 52 4+ /2022 — 80z + 89 = —4a? + 162 — 11
-9
5. (x — 9)(z — 3) — (152 — 45) T3 = —54

=]

V22 + 2 —56+ /|t -8 —1=—-2?+62+7

T.VE2—Te+10+ Va2 -8z + 12 = Va2 — 4z + 4
8.2 (Va2 +Tx+7342) =11z
9. 22+ -2y +8—-2V/2+8=0

10. Vo +Vz—3+ Vo +46—14y/z—3=9




Bapwuanr 5.

1.Vt + 22 —4dx— 5=zt —4

2.Vt =322 —dor—1=—-22+1

3. Viz -5 -V —T=+22+8

4. /1222 + 96x + 196 + /2022 + 160x + 329 = —42? — 322 — 59

5. (:v—?)(a:—S)—(9a:—72),/z:z:—14

6. V22 —dz — 45+ \/lz + 7| — 16 = —22 + 62 + 27

7.Vx2 — 152 + 50 + Va2 — 1dx + 45 = /22 — 10z + 25
8. vz (Va?+92+26+2) =8—x
9. 2+94+5Vr+9vV2 +10 - 14y +10=0

10. Vo + vz —16+Vz —15—-2y/z — 16 =6

Bapuaut 6.

1.Vt 4222 —4x—13=vV24 -9

2. Vet =322 —br+4=—22+1

3.Vdr —1 -3z —-2=+/5x -7

N

. V322 4+ 60z + 304 + /522 + 100z + 509 = —22 — 202 — 95

5
5. (x+2)(x+4)—(12x+48),/f514 — 35

6. V22 -3z 54+ /|l + 7 - 16 = —2? + 11z — 18

7. Vx2 — 122 + 35 + Va2 — 13z + 42 = Vo2 — 142 + 49
8.2 (Va2 +5x+58+1z) =10—/x

9.2 -8+3Vr —8yr—T7—10y/x —7=0

10. Vo4+vVz—9+Vz—8-2/x—-9=9




Bapwuanrt 7.

1. Vot — 22+ 3z — 13 = V24 — 16

2.Vrt + 2024+ 3 —1=—-22+1

3. V20 +9 -4z —8 =3z +7

4. /1222 — 108x + 247 + V2022 — 180z + 414 = —422 + 362 — 76

14
5. (¢ + 14)(z + 11) — (132 + 143),/§111 — 36

6. V22 =22 80+ /[t + 9 —19=—22+ 92+ 10

7. Vx2 — 17Tz + 70 + V22 — 162 + 60 = v/z2 — 20z + 100
8. Vz (Va2 +8x+T7+z)=6—x
9.2-104+5y/2 - 10z +9—- 14/ +9=0

10. Vo + vz — 164z +9— 10z — 16 =8

Bapwuaut 8.

1.Vt =522 —-32+9=vV2%4—9

2.Vt =322 -5z +5=—22+4

3. V32 +6—+vbx—6=+/5x—10

4. V1222 + 132z + 367 + V2022 + 220z + 614 = —4a? — 442 — 116
5. (2 — 3) (@ +9) — (142 + 126) | “—5 = _u8
) x+9

=]

V22— —56+/]r —10] —2=—2? + 92 — 8

7.Vx2 — 1z + 18+ 22 — 10z + 16 = Va2 —4a + 4
S.x(\/m+x):11—ﬁ

9. 2+4+48/r+4Vx+9-20Vz+9=0

10. Ve4+ vz —9+Vz+7-8/—9=6




Bapwuant 9.

1.Vt =322+ 42 —3=24— 16

2.Vt + 22+ 50 +2=—22+1

3. V22 +8—Vr+6=+4x +8

4. /2722 + 1442 + 196 + V4522 + 240z + 329 = —922 — 48z — 59

r—>5
r—3

6. V22 +4z— 32+ /lz +2|—6=—2%+ 5z — 4

5. (z — 5)(z — 3) — (10 — 30) =-16

T.Vr2 =11z +24+ Va2 — 122 + 27T = V22 — 62+ 9
8.u(Val+dw+44+x)=9—2x

9. 2+1+5Vr+1vVe+2—-14y/2+2=0

10. Vo + Vo — 13+ o —12—-2/z —13=7

BapuanTt 10.

1.Vt =42+ 40 —2=vV2%4—9

2. Vet =522+ 5+ 11 = —22 4+ 4

3.V22+8— 27 —4d=+Az +2

4. /1222 — 242 + 16 + v/2022 — 402 + 29 = —422 + 8z + 1

5. (z— 1)(z — 15) — (112 — 165), / ;__115 = 98

6. V22 =32 —T0+/|z — 4] — 6 = —2® + 62 + 40

7. Vx2 — 122 + 35 + Va2 — 132 + 40 = V22 — 102 + 25
8.2 (Va2 +br+43+1z)=9—x

9. 2+1+3Vr+1vVr+8—-10y/z+8=0

10. Vo4+ vV —T7+Vr—6-2y/z—7=3




BapwuanTt 11.

1.VrEi+2:2 43— 12=vVz4—9

2.Vt =522 —3x+4=—22+4

3.V +T7—V22+6=+2x+2

4. V2722 — 180z + 304 + V4522 — 300z + 509 = —9z2 + 60z — 95

x—10
r+6
6. V22 +4z—32+ /|t —6]—2=—2?+2+12

-8

5. (z — 10)(z + 6) — (6x + 36)

7. Vx2 — 15z + 56 + V22 — 14z + 48 = /22 — 162 + 64
8.2 (Va2 +3z+ 77+ z)=11—2
9. 2+84+8Vr +8Vx+10-9vV/2z +10=0

10. Ve4+ vz —9+\Vz+7-8/z—9=38

Bapuant 12.

1.Vt 4322 -3z —-7T=+V2%t—14

2.Vt =322 —3x+3=—-22+1

3.V +8—Vir—T=+vzr -1

4. V322 — 36z + 112 + V522 — 60z + 189 = —22 + 122 — 31
5. (2 +8)(x +6) — (7o +42), /555 = _19
. (T X — X = —

r+6

=]

V22 +22 =24+ \/|x +5]—9=—2? +5x — 4

7.Vx2 =122+ 20 + Va2 — 132 + 30 = /22 — 20z + 100

8.2 (Va2 +3z+60+z) =10z

9.2-94+6yz—9vVr—8—-TV/r—-8=0

10. Vo + Vo —34+ Vo +1-4y/z—3=3




Bapwuant 13.

1. Vot — 222 + 40 — 15 = Va* — 36

2. V2t =322+ 2 —T=—-22+4

3.V3z+3—Vidx —T=+3z—-6

4. /1222 — 96x + 196 + /2022 — 160x + 329 = —42? + 322 — 59

x—15
r+15
6. V22 + 32— 54+ /[t + 10| — 16 = —2® + 52+ 6

5. (z — 15) (2 + 15) — (142 + 210) —45

7.V22 =102+ 16+ Va2 —1lx + 18 = /22 — 4z + 4
8.ox(Val+aw+14+x)=6—-=x

9.2 -9+7Vr -9V +1-18/r+1=0

10. Ve 4+ — 104+ 2 —6—-4y2—10=5

Bapuant 14.

1.Vt =522 —5x—5=+x2*— 16

2.Vt — 22 —5r—3=—-a2+1

3.V +9 -3 +1=+3x -9

4. /2722 — 1262 + 151 + V4522 — 210z + 254 = —922 + 422 — 44

5. (x+4)(x—6)—(9x—54),/zf‘6‘=_20

6. VaZ+ 2 —90+ /lz+ 7 — 16 = —2* + 102 — 9

7.VE2 —1lz+24+ V22 —10x +21 = Va2 —6x + 9

8.2 (Va2 +5x+ 75+ z) =11 -z

9.2 -24+8/x -2 +1-9vVz+1=0

10. Vo + vz — 19+ /2 — 18— 2z —19=6




BapwuanTt 15.

1.Vred — 422 — 4 +9=vVz*—9

2.Vt 42— 2 —1=—-22+1

3. VAx +3—31x—6=+3x+2

4. V2722 — 72z + 52 + V4522 — 120z + 89 = —922 + 24z — 11

x—4
r+11
6. Va2 +dz—45+ /[t —3[-2=—-2>+62-5

—20

5. (x —4)(z+11) — (92 + 99)

7. Vx2 — 16z + 60 + V22 — 152 + 54 = /22 — 122 + 36
8.z (Va2 +6z+57+z)=10—z
9. 24+14+6Vz+1Yx+8 -7V +8=0

10. Vi4+ vz —6+\Vz+3 -6/ —6=38

BapuanTt 16.

1.Vt =522+ 52+ 7=Vxt— 4

2.Vt —4x2 — 4+ T=—22+4

3.V22+2—-V2x—2=+x -9

N

. V1222 — 60z + 79 + /2022 — 100z + 134 = —4x2 + 202 — 20

15
5. (z + 15)(x + 11) — (9 + 99), /iin — 18

V22 +4dr — 454/l —2[ - 3= —2®+ 62 —5

=]

7. Vx? — 11z + 24 + /22 — 10z + 16 = V22 — 162 + 64
8. vVz(Vat+z+62+2)=10—2
9.24+5+6Vr+5v2+6—-16y/+6=0

10. Vo 4+ vz — 194z — 15— 4yz — 19 = 10




BapwuanTt 17.

1.Vt — 422 — 4o —4 =22 =25

2.Vt + 22+ 50 —2=—22+1

3.Vhr —5—vVzx+5=22—-6

4. V322 + 30z + 79 + V5x2 + 50z + 134 = —22 — 10z — 20
x—=T7
r+1
6. V22 +22 80+ /|t — 5| -3 =—2?+ 10z — 16

5. (z —7)(z + 1) — (162 + 16) —60

7.Vx2 =192 + 90 + V22 — 18z + 80 = v/z2 — 20z + 100
8.z (VaZ+dar+31+z)=8—1z

9.2 -8+8/r —8Vr+T7—-20/z+7=0

10. Vae+ vz —4+\Vz+21—-10yz —4=7

BapuanTt 18.

1. Va2t +522+3x—13=Vz4— 4

2.Vt =522 — 20 +2=—22+4+4

3.V +3 -3z —-3=+3r -1

4. /1222 — 842 + 151 + 2022 — 140z + 254 = —4x2 + 28z — 44

i
5. (x4 1)(z + 13) — (142 + 182),/ ;fl?) — 40

6. V22 — 52 — 50+ /|z — 2| — 8 = —2? + 62 + 40

7. Vx? — 122 + 27 + /22 — 13z + 36 = Vo2 — 182 + 81
8.2 (Va2 +22+46+ ) =9—/x

9.2 -3+5Vr—3vr+9—14/2+9=0

10. Ve+ vz — 104z —-9-2/z—10=6




BapwuanTt 19.

1.Vt — 42+ 22+ 1=vVzr—9

2.Vt + 202 +20 —3=—22+1

3.V3z+5 -V —2=+x2+5

4. V322 — 42z + 151 + V522 — 70z + 254 = —z2 + 14z — 44

5. (x+13)(z — 7) — (122 — 84), i;_l??’ = 32

6. V22 +22—24+ /[t -9 -5 =—2%+ 3z +4

7.V =9z + 14+ Va2 —8x +12= Va2 —dx + 4
8.2 (Va2 +Te+28+x) =8—/x
9.2-54+2/z -5y +1-8/z+1=0

10. Voe+ vz — 134z —9—-4yz —13=5

Bapuant 20.

1.Vt =322+ 22 — 14 =24 =25

2.Vt — 422 — 20 +3=—22+4

3.Vbr+1—idr —4=+3x -2

N

. V322 4+ 362 + 112 + v/522 + 60x + 189 = —z2 — 122 — 31

1
5. (z— 1)(2 + 11) — (152 + 165)’/;“1 — 54

6. V22 + 256+ /|]r — 10| — 3 = —2% + 3z + 28

7.vV22 =112+ 30+ V22 — 122 + 35 = /22 — 10z + 25
8.z (Va2 +6zx+42+z)=9—=
9.2 —64+7V2 —6vr+10— 18z +10=0

10. \/x+\/x—2+\/x—1—2\/a:— =4




BapwuanTt 21.

1.Ver+322 —x— 4=zt —1

2.Vt — 22+ 22— 13=—22+4

3. Viz -8 -2z —9=z -3

4. /1222 + 108z + 247 + V2022 + 180z + 414 = —42? — 36z — 76

x+5:736
T+ 2

6. V22 +62—40+ /]t — 1| -3 = —2% 4+ 62 — 8

5. (z +5)(z +2) — (13z + 26)

7. Va2 — 18z + 80 + Va2 — 17z + 70 = v/a2 — 20z + 100
8.2 (Va2 +5x+10+2z) =6 -z
9. 244+ —4Yr+2-2/2+2=0

10. Vo + Vo —4++\z—-3-2/z—4=3

Bapuant 22.

1.Vt +22 -3z —-15=vV2%4—9

2. Vet 4422 + 4 —5=—a22+1

3.V22+9 -3z +6=+3x -1

4. V2722 — 18z + 7+ V4522 — 30z + 14 = —922 + 62 + 4
r— 14
5. (x — 14 2) — (Tx + 14 =-12
(= 14)(@ +2) = (T +14) | =

=)

V22425 —80+ /]t — 5| —3=—22+ 92 -8

7. Va2 — 16z + 60 + V22 — 172 + 66 = v/22 — 122 + 36
S.ﬁ(m+x):9—x

9.2 —8+T7Vr—8vVr+5—18y/x+5=0

10. Vo + Ve —1+Voe+8—6y/r—1=4




Bapwuant 23.

1.Vt — 22 +5x—6=+v24—9

2.Vt =522 —3x+3=—-22+1

3.2 —3-22—-10=+37 -8

4. /2722 + 126z + 151 + /4522 + 210z + 254 = —9z — 422 — 44

:vflli
z+9

6. V22 + 62 —40+ /[z +3| - T7T=—2%+ 22 +8

-8

5. (z —11)(z +9) — (6x + 54)

7.Vx22 =120+ 35+ Va2 — 11z + 28 = v/z2 — 14z + 49
8. Vz (Va2 +92+6+xz)=6—x
9.2 —-34+6Vr—3Vr+10—-16y/z+10=0

10. Vo + Vo —24+ Vo +2-4y/z —2=38

Bapuant 24.

1.Vt 4322 —4dx—15=Vz4— 4

2.Vt +322 +5x —3=—-22+1

3. VA4x +8— 22 —2=+/3x -2

4. V322 + 122+ 16+ Vb2 + 200 + 29 = —22 — 4z + 1
5. (z—8)(z+7) — (92 + 63) | *—2 — _20
) r+7

=]

V2242 =56+ |z — 10| =3 = —2? + 42 + 21

T7.Vr2 — 122 +20 + Va2 — 132 +22 = Va2 — 4o +4
8.2(Va2+8x+16+z)=T—z

9. x+2+4Vr +2vx+3-12y/z +3=0

10. Vz+ vz — 94z +55—16/z —9=9




Bapwuant 25.

1.Vert+ 22 —-3x—3=vVzt—1

2.Vt =322 +3zx+3=—-2%2+1

3. Viz +6 -3z —-3=Vz+6

4. V1222 — 36z + 31 + V2022 — 60z + 54 = —4z? + 122 — 4

x—10
x4+14

5. (z — 10)(2 + 14) — (82 + 112) ~15

6. V22 + T2 —30+ /[t +6/—9=—-2>+2+6

7. Vx2 — 14z + 45 + Va2 — 15z + 54 = /22 — 18z + 81
8.2 (VaZ+3x+96+x) =12—/x

9. 2+1+3Vr+1yr+6—-10y/r+6=0

10. Vo 4+ -8+ +28—-12y/z—8=9

Bapuant 26.

1. V22 =322 -3z —-7=+V2*— 16

2. Vet + 2024+ 3 —4=—22+1

3.Vbx—5—+vr—-5=+4x -5

4. V2722 — 36z + 16 + V4522 — 60z + 29 = —922 + 122 + 1
r—2
5. (x —2)(x —7) — (8x — 56) x—7:_12

=]

V22420 — 484 \/lx — 8] 2= —a® + 22+ 24

7. Vx2 — 13z + 36 + Va2 — 14z + 40 = Vo2 — 8z + 16
8.2 (Va2 +3z+12+z)=6—2

9.2 —-2+6Vr—2vr+9—16y/2+9=0

10. Vo 4+ vz — 10+ 2z + 71 — 18z — 10 = 10




Bapwuant 27.

1. Vot + 522 =5 —2=+Vat — 1

2.Vt +522 + 52 —10=—22 41

3.V3z -8 —+vVz—-5=+22-5

4. /2722 + 198z + 367 + V4522 + 330z + 614 = —922 — 662 — 116
x—2
r+1
6. Va2 +x— T2+ /|]x —4] —4 = —2? + 5z + 24

—24

5. (z —2)(z + 1) — (10z + 10)

7. V22— 9 + 14+ V22 — 8 + 7= Va2 — 14z + 49
8. Vz (Va2 +Tx+56+z) =10—2
9. 2x+1+4vV+1yx+10—-12/2+10=0

10. Ve4+vVr—1+Vz+3—-4y/z—1=3

Bapuant 28.

1.Vt + 222 +52—10=vV24 -9

2.Vt =324+ 20 — 1= —22+4

3.3 +9—-vV22+9=+v22 -6

N

V2722 + 182 + 7+ V4522 + 30x + 14 = —922 — 62 + 4

T
5. (z +10)(z — 10) — (8z — 80),/ii—18 — 12

N2+ -T2+ /|r +2[ - 10 = —2% + 52 + 24

=]

7 V12 —6x+84+Va2 —br+4=v22—8x+ 16
8.2 (Va2 +10z+ 38+ x) =9— /x
9. 24+2+8V/x+ 22 +3 -9V +3=0

10. Vo +vVor -6+ —4-2y/z—5=3




BapwuanTt 29.

1. Vet + 22 -5 —6=+v24 -9

2.Vt 4522 4 —T=—-22+41

3.Vhz+5—V3r+1=56z+3

4. /1222 + 60x + 79 + V2022 + 100z + 134 = —42? — 20z — 20

r—7 -
x—11

6. V22 +42—60+ /|t + 9] — 15 = —22 + 8z — 12

—12

5. (x = 7)(x —11) — (Tx = 77)

7. Vx2 — 14z + 48 + V22 — 15z + 54 = v/z2 — 122 + 36
8.2(Va2+ Tz +17+2z)=7—/z
9.2-948/2—-9Yx—-5-9Vz—-5=0

10. \/l‘+\/l‘—19+\/§6—3—8\/1—1 =38

Bapuant 30.

1.Vt 4222 — 22 —9=+2%t— 14

2.Vt — 202+ 4 —3=—22+4

3.Vdzr+1 -V —-3=+vVz+9

4. V322 + 48z + 196 + V522 + 80z + 329 = —z2 — 162 — 59
xr—12
5. (x — 12 4) — (11x + 44 =24
(= 12)(a +4) = (1lz +44) | =

=]

V22 =25 =80+ ]z + 7] — 17 = —2% + 9z + 10

7. Va2 —8r + 15+ Va2 — 9x + 20 = v/22 — 102 + 25
S.x(\/m+ﬁ):12—x

9. 2+1+43vVe+1vzr+9—-10V/z+9=0

10. Vo4+ vz —4+\Vz+5—-6yr—4=9
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